Ohms Law Practice Problems Worksheet
Answers

Ohm’s Law Practice Problems

Using Ohm'’s Law, solve the following problems. Be sure to show
all work. Formula: V (voltage)= | (current) X R (resistance)

1. What is the voltage if a resistance of 25 0 produces a current of
250 amperes?

2. What is the current produced by 4 voltage of 240 V through a
resistance of 0.2 7

3. What voltage is necessary to produce a current of 200 amperes
through a resistance of 100 07

4. What resistance would produce a current of 120 amps from a &-V
battery?

5 What is the current produced by a 3-V battery flowing through a
resistance of 200 Q7

& What voltage produces a current of 500 amps with a resistance of
a0 07

7. What resistance would produce a current of 200 amps with a voltage
of 2,000 v?

& What Is the current produced with a 9-V battery through a
resistance of 100 Q7
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Ohm's Law Practice Problems Worksheet Answers is a crucial aspect of
understanding electrical circuits in physics and engineering. Ohm's Law states that the
current (1) flowing through a conductor between two points is directly proportional to the
voltage (V) across the two points and inversely proportional to the resistance (R) of the
conductor. This fundamental principle can be expressed with the formula:

\[ V = I\times R\]
This article aims to provide a comprehensive overview of Ohm's Law, present various

practice problems, and offer detailed solutions. We will ensure that the content is
accessible and informative for students and anyone interested in learning more about



electrical principles.

Understanding Ohm's Law

Ohm's Law is a foundational principle in electrical engineering and physics. To grasp its
application, it is essential to understand its components:

1. Voltage (V)

- Measured in volts (V)
- Represents the electrical potential difference between two points

2. Current (I)

- Measured in amperes (A)
- Represents the flow of electric charge

3. Resistance (R)

- Measured in ohms (Q)
- Measures how much a material opposes the flow of electric current

According to Ohm's Law, if you know any two of these values, you can calculate the third.
This relationship makes it an invaluable tool for solving problems related to electrical
circuits.

Practice Problems

To solidify your understanding of Ohm's Law, let's explore some practice problems. Each
problem will be followed by a detailed solution to reinforce the concepts.

Problem 1: Calculating Current

A circuit has a voltage of 12 volts and a resistance of 4 ohms. What is the current flowing
through the circuit?

Solution 1:

Using Ohm's Law, we can rearrange the formula to solve for current (I):

\[ I = \frac{V}{R} \]



Substituting the known values:
\[ I =\frac{12\, \text{V}}{4\, \Omega} = 3\, \text{A} \]

Thus, the current flowing through the circuit is 3 amperes.

Problem 2: Finding Resistance

If a circuit has a current of 2 amperes and a voltage of 10 volts, what is the resistance?

Solution 2:

Again, we can rearrange Ohm's Law to find resistance (R):
\[ R = \frac{V}{I}\]

Substituting the known values:

\[ R =\frac{10 \, \text{V}}{2\, \text{A}} =5\, \Omega \]

Therefore, the resistance in the circuit is 5 ohms.

Problem 3: Calculating Voltage

A circuit has a current of 0.5 amperes and a resistance of 20 ohms. What is the voltage
across the circuit?

Solution 3:

We can use the original formula of Ohm's Law:

\[ V = I\times R\]

Substituting the known values:

\[ V=0.5)\ \text{A} \times 20\, \Omega = 10\, \text{V} \]

Thus, the voltage across the circuit is 10 volts.

Problem 4: Series Circuit Calculations

In a series circuit, three resistors are connected: 2 ohms, 3 ohms, and 5 ohms. If the total
voltage supplied is 30 volts, what is the current flowing through the circuit?



Solution 4:

First, we need to find the total resistance (R_total) in a series circuit by adding the
individual resistances:

\[ R_{\text{total}} =R 1+ R 2+ R 3]

\[ R_{\text{total}} = 2\, \Omega + 3\, \Omega + 5\, \Omega = 10\, \Omega \]
Now, we can find the current using Ohm's Law:

\[ I = \frac{V}{R_{\text{total}}} \]

Substituting the known values:

\[ I = \frac{30\, \text{V}}{10\, \Omega} = 3\, \text{A} \]

Therefore, the current flowing through the circuit is 3 amperes.

Problem 5: Parallel Circuit Calculations

In a parallel circuit, two resistors are connected: 6 ohms and 12 ohmes. If the total voltage
supplied is 24 volts, what is the total current flowing through the circuit?

Solution 5:

First, we find the equivalent resistance (R_eq) of the parallel circuit using the formula:
\[ \frac{1}{R_{\text{eq}}} = \frac{1}{R_1} + \frac{1}{R_2}\]

Substituting the known values:

\[ \frac{1}{R_{\text{eq}}} = \frac{1}{6\, \Omega} + \frac{1}{12\, \Omega} \]
Finding a common denominator:

\[ \frac{1}{R_{\text{eq}}} =\frac{2}{12} + \frac{1}{12} =\frac{3}{12}\]
Now, inverting gives us:

\[ R_{\text{eq}} = \frac{12}{3} = 4\, \Omega \]

Now we can find the total current using Ohm's Law:

\[ I_{\text{total}} = \frac{V}{R_{\text{eq}}}\]

Substituting the known values:

\[ I_{\text{total}} = \frac{24 \, \text{V}}{4\, \Omega} = 6\, \text{A} \]



Thus, the total current flowing through the circuit is 6 amperes.

Summary of Practice Problems

To recap the practice problems:

1. Current Calculation: 3 Afor 12V and 4 Q

2. Resistance Calculation: 5 Q for 10 Vand 2 A

3. Voltage Calculation: 10 V for 0.5 A and 20 Q

4. Series Circuit Current: 3 A for total voltage of 30 V and total resistance of 10 Q

5. Parallel Circuit Current: 6 A for total voltage of 24 V and equivalent resistance of 4 Q

Conclusion

Understanding and applying Ohm's Law is vital for anyone studying electricity and circuits.
This article provided practice problems with detailed solutions to reinforce these concepts.
Mastering Ohm's Law allows for better comprehension of electrical systems and prepares
learners for more complex circuit analysis and design. Whether you are a student,
engineer, or hobbyist, these skills are essential in navigating the world of electronics.

Frequently Asked Questions

What is Ohm's Law in simple terms?

Ohm's Law states that the current (I) through a conductor between two points is directly
proportional to the voltage (V) across the two points and inversely proportional to the
resistance (R) of the conductor, expressed as V = IR.

How do you calculate resistance using Ohm's Law?

Resistance can be calculated using the formula R = V/I, where V is the voltage in volts and |
is the current in amperes.

If a circuit has a voltage of 12 volts and a current of 3
amperes, what is the resistance?
Using Ohm's Law, R = V/I = 12V/3A = 4 ohms.

What is the formula for calculating current using Ohm's
Law?

Current can be calculated using the formula | = V/R, where V is voltage and R is resistance.



In a worksheet problem, if the resistance is 10 ohms
and the voltage is 50 volts, what is the current?
Using | = V/R, the current is | = 50V/10Q = 5A.

How can you use Ohm's Law to solve for voltage in a
circuit?

Voltage can be calculated using the formula V = IR, where | is the current in amperes and R
is the resistance in ohms.

If you have a current of 2 amperes running through a 5-
ohm resistor, what is the voltage across the resistor?
Using V = IR, the voltage is V = 2A 5Q = 10V.

What is a common mistake when solving Ohm's Law
problems?

A common mistake is miscalculating the units, such as confusing volts with ohms or not
converting units properly.

Why is it important to practice Ohm's Law problems?

Practicing Ohm's Law problems helps reinforce understanding of electrical principles and
improves problem-solving skills in real-world applications.
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Master Ohm's Law with our comprehensive practice problems worksheet and detailed answers.
Strengthen your understanding today! Learn more now.
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